Dawson College: Calculus IT: 201-NYB-05-S02: Winter 2010

Name: Z_AMM LMgAzZnge

Student ID:
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This test is graded out of 48 marks. No books, notes, graphing calculators or cell phones are allowed. Yon must show all your work, the
correct answer is worth 1 mark the remaining marks are given for the work. If you need more space for your answer use the back of the
page.

Question 1. (3 marks) Evaluate the definite integral:
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Question 2. (5 marks) Evaluate the improper integral or show it diverges:
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Question 3. (5 marks) Evaluate the indefinite integral:
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Question 4. (5 marks) Evaluate the indefinite integral:
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Question 5. (5 marks) Sketch and find the total area of the region(s) bounded by the graphs of y = .\-—94(:9’ y=10-x.

L - 90 et lim _12. -0 ol mi -y
Skeleh of Y )‘Z’:—?— nobice st W 219 Local min /max Y =('__;_ﬁ;ﬂ)(3)\7
X+

-ml X=0 =90 . 0
Ij @ y ? o _ N t-
L. X=20 critical pomn

a local wmax.

skebolh of Ij'-"[@'x: x-mb: (10,0)

Y-t (0/ 10)
Inbersec liow of two -cuves . 0 10-¥
Y5 7

90 :[[0-.)()()8.'7"’/7
90 = 10x7-X3 +90-7%
xZ1ox*+ 9% = 0

(x*-10x+9) =0
X (x-]WUx-9)=0

I
/N \ 90 - (ig-x)d ¥
¥z @ xc | X*? Ar%:s m (0 X)
: 0

7
'*S (10-x) - _20 _ dx
| X5+

2
= zQavctam_{g 10X + X
3 3 2
o

. 7
+ [t@x -X - Zqﬂﬂfa“%ﬁ

2 3 )

!

> . Wavehan L ~10 + 1

3 J

N) +90 ~gl _ 3¢ avclban
2

-1 +21 + 30 avctan L
3 3

= (0 arsbatl +70 -7% ~3gavelan >
s 2



Question 6. (5 marks) Evaluate the limit:
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Question 7. (5 marks) Evaluate the indefinite integral:
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Question 8. Only answer one of the following two questions.

a. (5 marks + 1 bonus mark for complete and correct solution) Evaluate the limit
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b. (5 marks) Find the value(s) of a and b such that
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Question 9. Only answer one of the following two questions.

a. (5 marks) Find the value(s) of ¢ such that the area of the region bounded by the parabolas y = x> — ¢ and y = ¢? — 2 is 1944,

Sketch the graphs of the functions.

b. (5 marks) Find the value of a such that the line x = a bisects the area under the curve y = 1/x° on 1 < x < . Sketch the graphs
of the function and relation.
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Question 10. Only answer one of the following two questions.
a. (5 marks + 2 bonus marks for complete and correct solution) If f(x) is a quartic function such that £(0) =4, f(0) = 18 and
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is a rational function, find the value of £(*)(x).
b. (5 marks) Find the value of the constant C for which the integral
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converges. Evaluate the integral for this value of C.
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Bonus Question. Only answer one of the following two bonus questions.

& (5 marks) Show that if f(x) is a polynomial of degree 3 or lower, then Simpson’s Rule gives the exact value of
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Bonus Question. Only answer one of the following two bonus questions.
@& . (5 marks) Show that if f(x) is a polynomial of degree 3 or lower, then Simpson’s Rule gives the exact value of
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